DESKPRO DIS-ASSEMBLY
INSTRUCTION




Linear Back-to-Back
Workstation

Total Time: 45 Mins for 6 seater
cluster

Major Tools Required :

M6 Allen Key
« M8 Allen Key



AFC

FURNITURE SOLUTIONS

FLAPPER & SCREEN DISASSEMBLY

* M6 Allen Key
* M8 Allen Key
Time Required:
P * 5mins

PART DETAILS
S.No | DESCRIPTION SIZE Qry REMARKS
1 | DISASSEMBLY - H AS REQ 01 NOS
2 |FLAPPER AS REQ 06 NOS ELECTRIC BOX

Tools Requirement :




A F C MODESTY DISASSEMBLY

FURNITURE SOLUTIONS

Tools Requirement : PART DETAILS
* M6 Allen Key S.No | DESCRIPTION SIZE Qry REMARKS
M8 Allen Key 1 DISASSEMBLY - H AS REQ 01 NOS
Time Required: 2 FLAPPER AS REQ 02 NOS
e 5mins 3 CENTER MODESTY ASPERTABLETOP | 03 NOS
4 ALLEN HEAD BOLT 6X25 12 NOS
5 SELF TAPPING SCREW | 3’

STEP WISE INSTRUCTION GUIDE:-

1. UNFIX LEG MODESTY (PART-2)FROM ALUMINUM WITH
@ SELF TAPPING SCREW 3/4™" AS SHOWN.

2. DISCONNECT CENTER MODESTY (PART-3) FROM CARRIER

WITH ALLEN HEAD BOLT (M6x25).

\ 4



A F C TABLE-TOP DISASSEMBLY

FURNITURE SOLUTIONS

Tools Requirement : PART DETAILS
* M6 Allen Key S.No | DESCRIPTION SIZE Qry REMARKS
* M8 Allen Key 1 DISASSEMBLY -F | ASREQ 01 NOS
Time Required: 2 TABLE TOP AS REQ 03 NOS 25mm ENGINEERED WOOD
* 5 mins 3 FLAT PATTI STD. 04 NOS
4 8X19 SCREW 8X19 WOOD TO METAL CONNECT

DISCONNECT TOP & BEAM WITH SCREW (8X19)



A F C WIRE CARRIER DISASSEMBLY

FURNITURE SOLUTIONS

PART DETAILS
DESCRIPTION SIZE Qry REMARKS
DISASSEMBLY - E AS REQ 01 NOS
END CARRIER STD. 02 NOS
CENTER CARRIER STD. 01 NOS
SELF TAPPING SCREW [ 3”4 12 NOS
CRCA COVER FOR BKT | 54X49 04 NOS

1.UNFIX SWITCH
PLATE FROM
CARRIER AS PER
FLAPPER LOCATION
ON TOP ,LOOSE
WITH SELF TAPPING

SCREW 3/4".
Tools Requirement : STEP WISE INSTRUCTION GUIDE:-
*  Philips Head 1.UNCLOSE ALUMINUM BKT WITH CRCA COVER.
Screwdriver 2.UNFIX WIRE CARRIER FROM LEGS WITH SELF TAPPING

Time Required: SCREW 3/4™° AS SHOWN.
* 5mins



AFC

FURNITURE SOLUTIONS

METAL SINGLE & DOUBLE BRACKET DISASSEMBLY

16

PART DETAILS
S.No | DESCRIPTION SIzE | QrY REMARKS
1 | BEAM AND LEG DISASSEMBLY-2 ASREQ [01NOS | DISASSEMBLY - D
2 | METAL SINGLE BRACKET STD. | 08 NOS
3 | METAL DOUBLE BRACKET STD. | 08 NOS
4 | SELF TAPPING SCREW 3"4 32 NOS

Tools Requirement :

* Philips Head
Screwdriver

Time Required:

* 5 mins

STEP WISE INSTRUCTION GUIDE:-

1. UNMOUNT METAL DOUBLE BRACKET(PART-3) FROM
RISER LEGS WITH SELF TAPPING SCREW 3/4°".
2.UNMOUNT METAL SINGLE BRACKET(PART-2) FROM DESK
PRO LEGS WITH SELF TAPPING SCREW 3/4°".




A F C BEAM AND LEG DISASSEMBLY -2

FURNITURE SOLUTIONS

PART DETAILS
S.No | DESCRIPTION SIZE Qry REMARKS
1 | DESKPRO LEG DISASSEMBLY ASREQ | 02NOS [ DISASSEMBLY -A
2 | RISER LEG DISASSEMBLY ASREQ  [02NOS | DISASSEMBLY -B
3 | BEAM DISASSEMBLY ASREQ |02NOS | DISASSEMBLY -C
4 | ALLEN HEAD BOLT 6X25 28 NOS

Tools Requirement :
* M6 Allen Key
Time Required:

* 5mins

B

STEP WISE INSTRUCTION GUIDE:-
1.DISCONNECT BEAM ASSY (ASSY-C) FROM LEGS ASSY (ASSY
A&B) WITH M6x25 ALLEN HEAD BOLT.




AFC

FURNITURE SOLUTIONS

BEAM AND LEG DISASSEMBLY -1

PART DETAILS

.N DESCRIPTION SIZE Qry REMARKS

1 DESKPRO LEG DISASSEMBLY AS REQ 02 NOS DISASSEMBLY -A
2 RISER LEG DISASSEMBLY AS REQ 02 NOS DISASSEMBLY -B
3 BEAM DISASSEMBLY AS REQ 02 NOS DISASSEMBLY -C
4 ALLEN HEAD BOLT 6X25 28 NOS

STEP WISE INSTRUCTION GUIDE:-

Tools Requirement :
* M6 Allen Key
Time Required:

* 5mins

1.DISCONNECT BEAM ASSY (ASSY-C) FROM LEGS ASSY (ASSY
A&B) WITH M6x25 ALLEN HEAD BOLT.



A F C BEAM DISASSEMBLY

FURNITURE SOLUTIONS

Tools Requirement : PART DETAILS

* M6 Allen Key S.No | DESCRIPTION SIZE Qry REMARKS

Time Required: 1 SINGLE DIA CAST BKT STD. 02 NOS | FOR DESKPRO

* 5 mins 2 DOUBLE DIA CAST BKT STD. 02 NOS FOR CENTER LEG
3 END BEAM AS PER TABLE TOP 02 NOS | 40X40 CRCA PIPE
4 CENTER BEAM AS PER TABLE TOP 28 NOS | 40X40 CRCA PIPE
5 ALLEN HEAD BOLT 6X25 04 NOS

@ 6 ALLEN HEAD BOLT 8X25 04 NOS

M6 x 25 ALLEN HEAD BOLT

STEP WISE INSTRUCTION GUIDE:-

1.DISCONNECT SINGLE DIA CAST BKT FROM END BEAM
WITH M6x25 ALLEN HEAD BOLT.




A F C RISER LEG DISASSEMBLY

FURNITURE SOLUTIONS

PART DETAILS
S.No | DESCRIPTION SIZE Qry REMARKS
1 | RISER LEG WITH WELDED COVER | AS REQ. 01NOS | RISERLEG
2 | 60X30 LEG BKT STD. 02NOS | PVC
3 |LEVELING SHOES 60X30 02 NOS
4 | OPENABLE COVER AS REQ. 01NOS | CRCA

Tools Requirement :

*  Philips head
screwdriver

* Soft Mallet

Time Required:

*  5mins

STEP WISE INSTRUCTION GUIDE:-
@ 1. REMOVE OPENABLE COVER FROM LEG.
2. ROTATE TO LOOSEN AND REMOVE LEVELING SHOE FROM PVC LEG
BRACKET
REMOVE PVC BRACKET FROM LEG.
4. UNWRAP THE ALL ITEMS.

w




AFC

FURNITURE SOLUTIONS

DESKPRO LEG DISASSEMBLY

PART DETAILS
S.No | DESCRIPTION SIZE Qry REMARKS
1 | LEG ASREQ. |01NOS | DESKPRO (ALUMINIUM)
2 | DESKPRO LEG BKT STD. 02NOS | PVC
3 |LEVELING SHOES 60X30 02 NOS

Tools Requirement :

*  Philips head
screwdriver

* Soft Mallet

Time Required:

*  S5mins

STEP WISE INSTRUCTION GUIDE:-

1.

2.
3.

ROTATE TO LOOSEN AND REMOVE LEVELING SHOE FROM PVC LEG
BRACKET

REMOVE PVC BRACKET FROM LEG.

UNWRAP ALL ITEMS



THANK YOU



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13

